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NBTHshH#E 8 4 85 39 46
NBHEHHE 4 4 55 23 32
NBHFHHE 7 3 44 29 15
BEYHHE 9 4 77 33 44
R EF S HEE 13 6 149 86 63
s E 5 2 56 31 25
THYHE 7 3 67 37 30
EROHER 8 4 84 38 46
HE S HE 10 4 108 60 48
mESHE 4 3 36 23 13
KiRFHHE 8 3 74 44 30
REERSHE 8 4 85 50 35
REERESHHE 11 5 109 39 70
FEEASHE 8 4 96 38 58
BHRESHHE 4 2 27 13 14
ERILLHE 7 3 54 26 28
WRE—HYHE 5 2 49 22 27
REZHYHE 5 2 4 23 18
WRE=HHE 4 2 55 24 31
REINE—YPHE 16 8 208 105 103
REENIE - HHE 17 8 202 113 89
SEESHE 25 10 241 113 128
RIESHE 13 6 160 83 77

& i 206 96 2,162 1,092 1,070
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